

Karaka 2024 Results – Vendor Pack

Final Karaka 2024 Statistics (as at 8 February)

	BOOK 1 TOTAL	BOOK 2 TOTAL	COMBINED TOTAL
Aggregate	\$80,693,000	\$11,604,500	\$92,297,500
Average	\$166,035	\$42,821	\$121,925
Median	\$120,000	\$32,500	\$90,000
Clearance	80%	72%	77%
Catalogued	682	443	1125
Withdrawn	75	66	141
Offered	607	377	984
Passed	121	106	227
Lots Sold	486	271	757
Top Price	\$1,600,000	\$220,000	\$1,600,000

Combined Statistics (as at 9 February)

	2024	2023	2022	2021	2020
Aggregate	\$92,297,500	\$82,158,500	\$74,382,500	\$60,996,500	\$78,458,188
Average	\$121,925	\$110,726	\$106,109	\$94,276	\$91,443
Median	\$90,000	\$80,000	\$70,000	\$62,500	\$55,000
Clearance	77%	77%	75%	82%	76%
Catalogued	1125	1079	1103	918	1265
Withdrawn	141	121	156	127	143
Offered	984	958	947	791	1122
Passed	227	216	246	144	264
Lots Sold	757	742	701	647	858
Top Price	\$1,600,000	\$1,000,000	\$1,000,000	\$800,000	\$900,000

Combined Spend by Country (as at 9 February)

Country	2024	2023	2022	2021	2020
New Zealand	\$37,199,500	\$32,431,000	\$41,332,000	\$34,947,500	\$34,180,800
Australia	\$42,419,000	\$38,586,500	\$24,133,500	\$16,355,500	\$32,484,388
Other	\$50,000	\$120,000	-	-	\$67,500
New South Wales	\$14,973,000	\$10,421,500	\$6,440,000	\$4,703,500	\$11,413,388
Queensland	\$7,828,000	\$9,506,500	\$8,565,000	\$2,157,500	\$2,525,500
South Australia	\$415,000	\$1,711,500	\$120,000	\$42,500	\$537,000
Victoria	\$18,358,000	\$15,638,000	\$8,548,500	\$8,595,000	\$17,141,000
Western Australia	\$795,000	\$1,090,000	\$460,000	\$322,000	\$800,000
Hong Kong	\$8,141,000	\$9,395,000	\$6,587,500	\$8,647,500	\$6,836,500
Singapore	\$1,056,000	\$457,500	\$1,579,500	\$251,000	\$737,000
Malaysia	\$2,920,000	\$778,500	-	-	-
China	-	-	-	\$60,000	\$2,492,500
USA	-	-	\$750,000	\$370,000	\$560,000
Japan	-	-	-	\$300,000	\$482,000
Great Britain	-	-	-	\$40,000	\$215,000
Ireland	-	\$160,000	-	-	\$1,250,000
Other	\$260,000	\$320,000	-	\$35,000	\$470,000

Karaka 2024 Combined Leading Purchasers by Aggregate (as at 9 February)

0 7 00 0 1				
Purchaser	Bought	Aggregate	Top Price	Top Lot
Mr DC Ellis CNZM (BAFNZ)	29	\$6,345,000	\$825,000	360
Chris Waller / Mulcaster Bloodstock	13	\$4,300,000	\$900,000	144
The Hong Kong Jockey Club	8	\$2,700,000	\$650,000	210
Moody Racing	4	\$2,460,000	\$1,600,000	21
Jamie Richards / Andrew Williams Bloodstock	6	\$2,370,000	\$725,000	55
KPW Bloodstock	12	\$2,120,000	\$360,000	308
Wexford Stables	13	\$2,070,000	\$280,000	285
Go Racing Ltd / Blandford Bloodstock	10	\$1,585,000	\$300,000	295

Bruce Perry Bloodstock (BAFNZ)	6	\$1,545,000	\$620,000	479
Ballymore Stables / Paul Moroney Bloodstock / Catheryne Bruggeman	13	\$1,543,500	\$460,000	661
Stephen Marsh Racing / Dylan Johnson Bloodstock	7	\$1,390,000	\$425,000	218
John Foote Bloodstock	10	\$1,327,500	\$260,000	506
Mr RA James / Mr R Wellwood	8	\$1,300,000	\$360,000	63
Pike Racing	7	\$1,300,000	\$400,000	138
Patella Bloodstock	3	\$1,133,000	\$700,000	146
John O'Shea Racing / James Bester Bloodstock	6	\$1,005,000	\$325,000	448
Tartan Meadow Bloodstock	7	\$973,500	\$250,000	100
Bjorn Baker Racing / Clarke Bloodstock (FBAA)	4	\$895,000	\$525,000	562
Proven Thoroughbreds / Pride Racing	4	\$870,000	\$350,000	467
Cambridge Stud	4	\$840,000	\$300,000	675

Vendors by Aggregate (as at 9 February)

Vendor	Offered	Sold	Aggregate	Average	Top Price	Top Lot
Waikato Stud Ltd	74	59	\$8,730,000	\$147,966	\$620,000	409
Haunui Farm	55	48	\$5,790,000	\$120,625	\$825,000	360
Cambridge Stud	35	35	\$5,580,000	\$159,429	\$425,000	438
Rich Hill Stud	43	31	\$4,764,500	\$153,694	\$900,000	144
Pencarrow Stud	22	19	\$4,300,000	\$226,316	\$700,000	146
Curraghmore	26	24	\$4,220,000	\$175,833	\$800,000	513
Windsor Park Stud	52	36	\$3,874,500	\$107,625	\$300,000	269
Elsdon Park	15	14	\$3,800,000	\$271,429	\$725,000	55
Hallmark Stud	18	16	\$3,468,500	\$216,781	\$1,600,000	21
Landsdowne Park Ltd	38	28	\$3,362,000	\$120,071	\$460,000	661
Wentwood Grange	36	32	\$3,240,000	\$101,250	\$260,000	280
Little Avondale Stud	27	21	\$2,894,000	\$137,810	\$525,000	562
Riversley Park Ltd	13	13	\$2,885,000	\$221,923	\$500,000	397
Trelawney Stud Ltd	16	14	\$2,520,000	\$180,000	\$400,000	138
Carlaw Park	19	16	\$2,515,000	\$157,188	\$320,000	97
Westbury Stud	50	30	\$2,467,500	\$82,250	\$160,000	580

Kilgravin Lodge	27	19	\$2,323,000	\$122,263	\$600,000	480
Milan Park	22	17	\$1,972,000	\$116,000	\$425,000	16
Jamieson Park	19	14	\$1,960,000	\$140,000	\$620,000	479
Inglewood Stud	14	13	\$1,750,000	\$134,615	\$300,000	295
Phoenix Park	18	13	\$1,617,500	\$124,423	\$460,000	482
Woburn Farm	26	20	\$1,591,000	\$79,550	\$275,000	9
Highline	17	14	\$1,587,500	\$113,393	\$510,000	224
Thoroughbreds						
Mapperley Stud Ltd	31	19	\$1,503,500	\$79,132	\$240,000	66
Kaha Nui Farm	7	6	\$1,370,000	\$228,333	\$500,000	630
Beaufort Downs Ltd	14	11	\$1,230,000	\$111,818	\$250,000	128
Brighthill Farm	27	17	\$1,172,500	\$68,971	\$130,000	118
Blandford Lodge	12	8	\$1,111,000	\$138,875	\$280,000	285
Seaton Park Ltd	21	20	\$788,000	\$39,400	\$150,000	436
Grangewilliam Stud	17	14	\$692,000	\$49,429	\$210,000	126
Ralph Thoroughbreds	14	11	\$685,000	\$62,273	\$120,000	433
Prima Park	5	4	\$660,000	\$165,000	\$260,000	391
The Oaks Stud	11	8	\$650,000	\$81,250	\$150,000	415
Leanach Lodge Ltd	20	15	\$604,000	\$40,267	\$220,000	790
Ardsley Stud Ltd	10	6	\$574,000	\$95,667	\$170,000	637
Highview	14	8	\$557,500	\$69,688	\$120,000	1122
HGT Bloodstock Ltd	13	9	\$540,000	\$60,000	\$120,000	723
Wainui Ltd	2	1	\$340,000	\$340,000	\$340,000	554
Henley Park	4	3	\$280,000	\$93,333	\$150,000	494
White Robe Lodge	3	3	\$210,000	\$70,000	\$100,000	48
Cambria Park	6	5	\$207,500	\$41,500	\$110,000	170
Beckam Equine	4	3	\$205,000	\$68,333	\$150,000	944
Lyndhurst Farm	4	3	\$205,000	\$68,333	\$75,000	620
Beltana	3	1	\$200,000	\$200,000	\$200,000	73
Berkley Stud	4	4	\$197,500	\$49,375	\$62,500	881
Ainsley Downs Stud	6	4	\$186,500	\$46,625	\$80,000	444
Platinum Bloodstock	5	3	\$161,500	\$53,833	\$100,000	690
	•			•	•	

Hiwiroa Lodge	3	3	\$160,000	\$53,333	\$110,000	1088
Westend Partnership	9	6	\$133,000	\$22,167	\$45,000	809
Koru Thoroughbreds	4	1	\$125,000	\$125,000	\$125,000	532
Willow Tree Farm	4	4	\$115,000	\$28,750	\$50,000	920
Cheltenham Stables	3	1	\$80,000	\$80,000	\$80,000	93
Tui Stables	2	2	\$73,000	\$36,500	\$48,000	930
Poplar Lodge	4	1	\$45,000	\$45,000	\$45,000	1067
Nala Park	4	4	\$22,000	\$5,500	\$8,000	1044
Long Acres Stud	4	2	\$17,000	\$8,500	\$10,000	928
Te Aute Stud	1	1	\$5,000	\$5,000	\$5,000	740
V. A. Wilson	2	1	\$5,000	\$5,000	\$5,000	1000
Archer Park	1					
Epona Park	3					
Timberlee	1					
Thoroughbreds						

Vendors by Average (as at 9 February)

Vendor	Offered	Sold	Average	Aggregate	Top Price	Top Lot
Wainui Ltd	2	1	\$340,000	\$340,000	\$340,000	554
Elsdon Park	15	14	\$271,429	\$3,800,000	\$725,000	55
Kaha Nui Farm	7	6	\$228,333	\$1,370,000	\$500,000	630
Pencarrow Stud	22	19	\$226,316	\$4,300,000	\$700,000	146
Riversley Park Ltd	13	13	\$221,923	\$2,885,000	\$500,000	397
Hallmark Stud	18	16	\$216,781	\$3,468,500	\$1,600,000	21
Beltana	3	1	\$200,000	\$200,000	\$200,000	73
Trelawney Stud Ltd	16	14	\$180,000	\$2,520,000	\$400,000	138
Curraghmore	26	24	\$175,833	\$4,220,000	\$800,000	513
Prima Park	5	4	\$165,000	\$660,000	\$260,000	391
Cambridge Stud	35	35	\$159,429	\$5,580,000	\$425,000	438
Carlaw Park	19	16	\$157,188	\$2,515,000	\$320,000	97
Rich Hill Stud	43	31	\$153,694	\$4,764,500	\$900,000	144

Waikato Stud Ltd	74	59	\$147,966	\$8,730,000	\$620,000	409
Jamieson Park	19	14	\$140,000	\$1,960,000	\$620,000	479
Blandford Lodge	12	8	\$138,875	\$1,111,000	\$280,000	285
Little Avondale Stud	27	21	\$137,810	\$2,894,000	\$525,000	562
Inglewood Stud	14	13	\$134,615	\$1,750,000	\$300,000	295
Koru Thoroughbreds	4	1	\$125,000	\$125,000	\$125,000	532
Phoenix Park	18	13	\$124,423	\$1,617,500	\$460,000	482
Kilgravin Lodge	27	19	\$122,263	\$2,323,000	\$600,000	480
Haunui Farm	55	48	\$120,625	\$5,790,000	\$825,000	360
Landsdowne Park Ltd	38	28	\$120,071	\$3,362,000	\$460,000	661
Milan Park	22	17	\$116,000	\$1,972,000	\$425,000	16
Highline	17	14	\$113,393	\$1,587,500	\$510,000	224
Thoroughbreds						
Beaufort Downs Ltd	14	11	\$111,818	\$1,230,000	\$250,000	128
Windsor Park Stud	52	36	\$107,625	\$3,874,500	\$300,000	269
Wentwood Grange	36	32	\$101,250	\$3,240,000	\$260,000	280
Ardsley Stud Ltd	10	6	\$95,667	\$574,000	\$170,000	637
Henley Park	4	3	\$93,333	\$280,000	\$150,000	494
Westbury Stud	50	30	\$82,250	\$2,467,500	\$160,000	580
The Oaks Stud	11	8	\$81,250	\$650,000	\$150,000	415
Cheltenham Stables	3	1	\$80,000	\$80,000	\$80,000	93
Woburn Farm	26	20	\$79,550	\$1,591,000	\$275,000	9
Mapperley Stud Ltd	31	19	\$79,132	\$1,503,500	\$240,000	66
White Robe Lodge	3	3	\$70,000	\$210,000	\$100,000	48
Highview	14	8	\$69,688	\$557,500	\$120,000	1122
Brighthill Farm	27	17	\$68,971	\$1,172,500	\$130,000	118
Beckam Equine	4	3	\$68,333	\$205,000	\$150,000	944
Lyndhurst Farm	4	3	\$68,333	\$205,000	\$75,000	620
Ralph Thoroughbreds	14	11	\$62,273	\$685,000	\$120,000	433
HGT Bloodstock Ltd	13	9	\$60,000	\$540,000	\$120,000	723
Platinum Bloodstock	5	3	\$53,833	\$161,500	\$100,000	690
Hiwiroa Lodge	3	3	\$53,333	\$160,000	\$110,000	1088

Grangewilliam Stud	17	14	\$49,429	\$692,000	\$210,000	126
Berkley Stud	4	4	\$49,375	\$197,500	\$62,500	881
Ainsley Downs Stud	6	4	\$46,625	\$186,500	\$80,000	444
Poplar Lodge	4	1	\$45,000	\$45,000	\$45,000	1067
Cambria Park	6	5	\$41,500	\$207,500	\$110,000	170
Leanach Lodge Ltd	20	15	\$40,267	\$604,000	\$220,000	790
Seaton Park Ltd	21	20	\$39,400	\$788,000	\$150,000	436
Tui Stables	2	2	\$36,500	\$73,000	\$48,000	930
Willow Tree Farm	4	4	\$28,750	\$115,000	\$50,000	920
Westend Partnership	9	6	\$22,167	\$133,000	\$45,000	809
Long Acres Stud	4	2	\$8,500	\$17,000	\$10,000	928
Nala Park	4	4	\$5,500	\$22,000	\$8,000	1044
Te Aute Stud	1	1	\$5,000	\$5,000	\$5,000	740
V. A. Wilson	2	1	\$5,000	\$5,000	\$5,000	1000
Archer Park	1					
Epona Park	3					
Timberlee	1					
Thoroughbreds						

Leading Vendors by Average (three or more sold) (as at 9 February)

Vendor	Offered	Sold	Average	Top Price	Top Lot
Elsdon Park	15	14	\$271,429	\$725,000	55
Kaha Nui Farm	7	6	\$228,333	\$500,000	630
Pencarrow Stud	22	19	\$226,316	\$700,000	146
Riversley Park Ltd	13	13	\$221,923	\$500,000	397
Hallmark Stud	18	16	\$216,781	\$1,600,000	21
Trelawney Stud Ltd	16	14	\$180,000	\$400,000	138
Curraghmore	26	24	\$175,833	\$800,000	513
Prima Park	5	4	\$165,000	\$260,000	391
Cambridge Stud	35	35	\$159,429	\$425,000	438
Carlaw Park	19	16	\$157,188	\$320,000	97

Rich Hill Stud	43	31	\$153,694	\$900,000	144
Waikato Stud Ltd	74	59	\$147,966	\$620,000	409
Jamieson Park	19	14	\$140,000	\$620,000	479
Blandford Lodge	12	8	\$138,875	\$280,000	285
Little Avondale Stud	27	21	\$137,810	\$525,000	562
Inglewood Stud	14	13	\$134,615	\$300,000	295
Phoenix Park	18	13	\$124,423	\$460,000	482
Kilgravin Lodge	27	19	\$122,263	\$600,000	480
Haunui Farm	55	48	\$120,625	\$825,000	360
Landsdowne Park Ltd	38	28	\$120,071	\$460,000	661

Sires by Average (as at 9 February)

Sire	Offered	Sold	Average	Top Price	Top Lot
Kingman	1	1	\$650,000	\$650,000	210
Zoustar	2	2	\$562,500	\$725,000	55
I Am Invincible	1	1	\$510,000	\$510,000	224
Deep Field	2	1	\$500,000	\$500,000	630
Snitzel	3	3	\$475,000	\$825,000	360
Wootton Bassett	9	7	\$328,571	\$800,000	513
Justify	5	4	\$327,500	\$550,000	62
Farnan	2	2	\$322,500	\$425,000	16
Alabama Express	1	1	\$300,000	\$300,000	370
Fastnet Rock	1	1	\$275,000	\$275,000	9
Proisir	35	29	\$266,552	########	21
Savabeel	49	42	\$260,000	\$650,000	442
Brazen Beau	1	1	\$250,000	\$250,000	545
Medaglia d'Oro	1	1	\$240,000	\$240,000	641
So You Think	7	7	\$205,000	\$400,000	94
Ole Kirk	1	1	\$200,000	\$200,000	43
Capitalist	3	3	\$196,667	\$260,000	309
Written Tycoon	3	3	\$196,667	\$250,000	553

Satono Aladdin	21	19	\$191,842	\$900,000	144
Lonhro	1	1	\$180,000	\$180,000	547
Pierro	3	3	\$176,667	\$240,000	148
The Autumn Sun	5	3	\$168,333	\$240,000	130
Per Incanto	43	30	\$165,500	\$500,000	397
Saxon Warrior	1	1	\$160,000	\$160,000	172
Starspangledbanner	1	1	\$160,000	\$160,000	17
Hello Youmzain	44	40	\$153,150	\$425,000	438
North Pacific	3	1	\$150,000	\$150,000	357
Ardrossan	18	14	\$148,821	\$390,000	275
Written By	5	3	\$143,333	\$180,000	116
Toronado	3	3	\$138,333	\$240,000	152
Blue Point	4	4	\$136,250	\$215,000	182
Too Darn Hot	3	2	\$135,000	\$150,000	468
Super Seth	39	32	\$134,344	\$700,000	146
Sun City	1	1	\$130,000	\$130,000	731
King's Legacy	9	9	\$128,611	\$260,000	74
Russian Revolution	4	3	\$127,500	\$180,000	205
Dundeel	6	5	\$124,000	\$300,000	295
Admire Mars	2	2	\$120,000	\$180,000	286
Grunt	1	1	\$120,000	\$120,000	815
Trapeze Artist	2	2	\$120,000	\$120,000	183
Cosmic Force	5	5	\$117,000	\$340,000	538
Maurice	4	4	\$115,000	\$180,000	114
Ocean Park	48	36	\$113,333	\$300,000	150
Almanzor	58	44	\$112,977	\$400,000	601
Yes Yes Yes	3	2	\$112,500	\$115,000	941
Russian Camelot	5	3	\$110,333	\$250,000	33
Nicconi	1	1	\$110,000	\$110,000	463
Hellbent	4	4	\$100,000	\$120,000	640
Pierata	1	1	\$100,000	\$100,000	614

Churchill	5	5	\$96,000	\$140,000	372
Ancient Spirit	4	4	\$92,500	\$160,000	1081
Spirit of Boom	4	3	\$91,667	\$150,000	617
Peltzer	2	1	\$90,000	\$90,000	867
Pride of Dubai	1	1	\$90,000	\$90,000	125
Strasbourg	2	1	\$90,000	\$90,000	1021
Contributer	29	23	\$89,565	\$260,000	527
Bivouac	9	7	\$89,286	\$130,000	307
Ace High	19	13	\$84,308	\$280,000	133
U S Navy Flag	14	13	\$83,769	\$215,000	671
Harry Angel	4	4	\$83,750	\$120,000	102
Circus Maximus	41	25	\$83,000	\$200,000	399
Brutal	3	3	\$81,000	\$150,000	411
Doubtland	1	1	\$80,000	\$80,000	536
All Too Hard	4	4	\$77,500	\$120,000	86
Reliable Man	17	8	\$77,125	\$140,000	665
Shamus Award	1	1	\$75,000	\$75,000	81
Tivaci	27	20	\$73,050	\$150,000	335
El Roca	17	16	\$73,031	\$190,000	178
Street Boss	2	2	\$72,500	\$75,000	220
Tarzino	13	5	\$71,500	\$100,000	88
Wrote	10	7	\$71,357	\$120,000	1122
Redwood	13	9	\$70,500	\$150,000	570
Ghaiyyath	2	2	\$70,000	\$80,000	173
War Decree	9	7	\$69,286	\$150,000	382
Sweynesse	14	9	\$68,056	\$200,000	638
Zed	6	5	\$67,800	\$210,000	126
Vadamos	9	6	\$61,500	\$220,000	129
Hanseatic	1	1	\$60,000	\$60,000	531
Lucky Vega	1	1	\$60,000	\$60,000	598
Shocking	17	9	\$59,111	\$180,000	149

	1	1			T
Cool Aza Beel	2	2	\$56,000	\$80,000	222
Anders	5	4	\$55,500	\$100,000	612
Astern	2	2	\$55,000	\$70,000	293
Castelvecchio	1	1	\$55,000	\$55,000	288
Earthlight	2	2	\$55,000	\$100,000	500
Shamexpress	4	2	\$55,000	\$55,000	1059
Darci Brahma	16	11	\$53,909	\$170,000	637
Microphone	4	4	\$52,500	\$70,000	121
Turn Me Loose	20	12	\$51,208	\$230,000	28
Vancouver	1	1	\$50,000	\$50,000	569
Time Test	18	13	\$46,231	\$220,000	790
Staphanos	8	5	\$41,400	\$90,000	345
Magna Grecia	2	1	\$40,000	\$40,000	750
Ribchester	20	16	\$37,906	\$120,000	147
Belardo	8	8	\$37,250	\$75,000	1019
Derryn	11	9	\$36,722	\$95,000	383
Vanbrugh	5	3	\$36,500	\$90,000	1013
Swiss Ace	3	3	\$35,167	\$48,000	930
Exceedance	2	2	\$35,000	\$55,000	167
Fierce Impact	3	3	\$34,167	\$40,000	849
Embellish	15	13	\$33,192	\$110,000	1088
Tagaloa	3	2	\$30,000	\$35,000	13
Banquo	4	4	\$29,500	\$41,000	1043
Eminent	7	2	\$26,250	\$27,500	981
Merchant Navy	2	2	\$26,250	\$32,500	699
Prague	1	1	\$25,000	\$25,000	1035
Puccini	1	1	\$25,000	\$25,000	830
King of Comedy	18	12	\$23,333	\$60,000	322
Frosted	2	1	\$21,000	\$21,000	972
Wyndspelle	1	1	\$20,000	\$20,000	843
Mongolian Khan	1	1	\$15,000	\$15,000	813

Preferment	7	4	\$15,000	\$35,000	942
The Bold One	1	1	\$15,000	\$15,000	1011
Savile Row	1	1	\$6,000	\$6,000	829
Jon Snow	1	1	\$5,000	\$5,000	933
Mongolian Falcon	2	1	\$5,000	\$5,000	1000

Leading Sires by Average (three or more sold) (as at 9 February)

Sire	Offered	Sold	Average	Top Price	Top Lot
Snitzel	3	3	\$475,000	\$825,000	360
Wootton Bassett	9	7	\$328,571	\$800,000	513
Justify	5	4	\$327,500	\$550,000	62
Proisir	35	29	\$266,552	\$1,600,000	21
Savabeel	49	42	\$260,000	\$650,000	442
So You Think	7	7	\$205,000	\$400,000	94
Capitalist	3	3	\$196,667	\$260,000	309
Written Tycoon	3	3	\$196,667	\$250,000	553
Satono Aladdin	21	19	\$191,842	\$900,000	144
Pierro	3	3	\$176,667	\$240,000	148
The Autumn Sun	5	3	\$168,333	\$240,000	130
Per Incanto	43	30	\$165,500	\$500,000	397
Hello Youmzain	44	40	\$153,150	\$425,000	438
Ardrossan	18	14	\$148,821	\$390,000	275
Written By	5	3	\$143,333	\$180,000	116
Toronado	3	3	\$138,333	\$240,000	152
Blue Point	4	4	\$136,250	\$215,000	182
Super Seth	39	32	\$134,344	\$700,000	146
King's Legacy	9	9	\$128,611	\$260,000	74
Russian Revolution	4	3	\$127,500	\$180,000	205

First Season Sires by Average (three or more sold) (as at 9 February)

Sire	Offered	Sold	Average	Тор	Top Lot
				Price	
Wootton Bassett+	9	7	\$328,571	\$800,000	513
Hello Youmzain*	44	40	\$153,150	\$425,000	438
King's Legacy	9	9	\$128,611	\$260,000	74
Russian Camelot	5	3	\$110,333	\$250,000	33
Ancient Spirit*	4	4	\$92,500	\$160,000	1081
Bivouac	9	7	\$89,286	\$130,000	307
Circus Maximus*	41	25	\$83,000	\$200,000	399
Anders	5	4	\$55,500	\$100,000	612
Fierce Impact	3	3	\$34,167	\$40,000	849
Banquo	4	4	\$29,500	\$41,000	1043
King of Comedy*	18	12	\$23,333	\$60,000	322

⁺First Southern Hemisphere crop

^{*}First season sire based in NZ.